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ENGLISH VERBAL EXPRESSION 

 

Find the correct antonym: 

Dexterous 

A. Inexpert 

B. Acute 

C. Active 

D. Able 

Ignominy  

A. Pretend 

B. Honor 

C. Inanity 

D. Shrub 

Find the correct answer to complete the sentences: 

If________the match, I will go to Lahore to meet the sports board 

chairperson. 

A. I will win 

B. I win 

C. I wins 

D. I shall win 

I have no experience, so I'm _____ a disadvantage when it comes to this 

job interview. 

A. At 

B. In 

C. With 

D. On 

Find relevant analogies: 

Greenhouse: Plant: 

A. Library: Books 

B. Incubator: Infant 

C. Cooler: Wine 

D. Kennel: Dog 

Insect: Disease: 

A. Chiller: Fire 

B. Blades: Brush 

C. Poet: Poetess  

D. War: Destruction 

 

ANALYTICAL REASONING 

Read the statement carefully: Answer the Questions. 

An artist needs to arrange seven pictures on the wall of a room in an art gallery. 

The pictures must be placed in seven consecutive positions, numbered 1 

through 7, along the wall. Four of the pictures—F, G, H, and I —depict buildings, 

 a.  b.  

https://pakmcqs.com/english-mcqs/antonyms-mcqs/antonym-dexterous-_____________
https://pakmcqs.com/english-mcqs/antonyms-mcqs/antonym-expand-_____________
https://pakmcqs.com/english-mcqs/prepositions-mcqs/if________the-matchi-will-go-to-kpk-peshawar-to-meet-the-sports-board-chairperson
https://pakmcqs.com/english-mcqs/prepositions-mcqs/if________the-matchi-will-go-to-kpk-peshawar-to-meet-the-sports-board-chairperson


 
 

whereas three of the pictures—S, T, and U—depict 

naturals. The order in which the pictures are arranged along the wall must meet 

the following conditions: 

 No two pictures of buildings can be placed next to each other. 

 I cannot immediately precede S. 

 H must immediately precede T. 

 If G is in the third position, then S must be in the second position. 

Which of the following is an acceptable arrangement of the pictures along 

the wall, from position 1 to position 7? 

           A.    F, S, G, T, I, U, H 

           B.    H, T, I, U, G, S, F 

           C.    I, U, G, F, S, H, T 

           D.    S, F, U, H, T, G, I 

           E.    U, S, G, H, T, F, I 

Which of the following lists the three positions on the wall in which H could 

be placed? 

        A.      First, second, and third 

        B.      First, third, and fifth 

        C.      Third, fourth, and fifth 

        D.      Third, fifth, and sixth 

        E.      Third, fifth, and seventh 

If G is in the third position, U must be placed in which of the following 

positions? 

A. First 

B. Second 

C. Fourth 

D. Fifth 

E. Sixth 

If S must be placed on the wall in a higher numbered position than T and in a 

lower numbered position than U, F must be placed in which of the following 

positions? 

A.    First 

B.    Second 

C.    Third 

D.    Fourth 

E.    Fifth 

 

QUANTITATIVE 

In a hundred-meter race, Naseem takes 30 steps in 9 seconds. How many 

steps does she take in 54 seconds? 

A. 130  

B. 170 

C. 173 



 
 

D. 180 

E. None is correct  

If A=3, B=4, C=6 and D=7, calculate the following:         

(C x D) – (B x C) 

(A + C) 

A. 0  

B. 2 

C. 4 

D. 6 

E. None is correct 

What is 45% of 300?        

A. 135  

B. 127 

C. 145 

D. 155 

E. None is correct 

Sajid is twice as old as her youngest brother. If the difference between 

their ages is 10 years. How old is his youngest brother? 

A. 10   

B. 15 

C. 20 

D. 25 

E. 30 

What is the next digit in the series 9, 10, 8, 9, 7, ? 

A. 6   

B. 8 

C. 9 

D. 10 

E. None is correct 

SUBJECT-SPECIFIC 

The unitary actor is the “state” within the following school of thought: 

A. Marxism 

B. Realism 

C. Functionalism 

D. Neo-Functionalism 

Neoliberals: 

A. Stress the importance of international institutions in reducing 

conflict in the international system. 

B. Are pessimistic above international operations. 

C. Agree with realists that are unitary actors 

D. Both (a) and (c) 

Democratic Peace Theory has its roots in the thoughts of: 

A. Immanuel Kant 



 
 

B. Hugo Grotius 

C. Hans J. Morgenthau 

D. Gramsci 

Non-traditional security threats include:  

A. Nuclear weapons 

B. Chemical weapons 

C. Non-military means 

D. None of the above 

Nuclear deterrence means: 

A. Nuclear war can be fought and won  

B. Averting war through fear of breakout of nuclear war 

C. Surprise attack launched with the stated intention of countering an 

anticipated enemy offensive 

D. None of the above  

The author of the book “the End of History and the Last Man” is: 

A. Samuel Huntington   

B. Francis Fukuyama 

C. Henry Kissinger   

D. Christine Faire 

The Strait of Malacca connects: 

A. Indian Ocean and Atlantic Ocean 

B. Indian Ocean and Pacific Ocean 

C. Red Sea and Indian Ocean 

D. Indian Ocean and Caspian Sea 

 

 

SUBJECTIVE EXAM (25 Marks) 

Attempt all questions.  

 

Question 1 

How would you see Palestine-Israel Conflict through the lens of Realism? (12.5) 

Question 2 

How would you explain Pakistan’s quest of balancing in the context of the US-

China contestation and the US-Russia competition in Asia-Pacific?  (12.5) 

 


